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Chapter 13: How to improve profit

JustYou is a fashionable nightclub in the centre of Manchester. Established five years ago, it was a very popular place to meet friends and dance. Over the past year, however, numbers coming into the club have declined. Part of the problem has been increased competition from a couple of other nightclubs that have recently opened nearby. 
 The normal cost of entry to the nightclub is £5 per person. Monday night, the club is closed. Tuesday and Wednesday nights, which are the quietest nights, are free. On a typical week, around 50 people might come in on a Tuesday and Wednesday. At the weekend, around 300 people used to come per night but this has fallen to 200 in recent months. Charging people to come in is not the main source of revenue. More money is made from the sale of drinks at the bar. 
 Costs have been increasing. The landlord has just raised the rent on the premises by £100 a week. Many of the staff are on the minimum wage, set by the government, but this rose by 3 per cent last year. Gas and electricity bills have soared, up 50 per cent over the past two years. The government keeps putting up the tax on drinks, making drinks more expensive and less affordable. 

 The senior management of the night club last week held a crisis meeting because the figures showed that the club made a loss over the past three months, its first loss in four years. Every aspect of the club’s finances was discussed. There was a lot of talk about how costs could be cut. However, the manager of the club felt the real problem was the declining numbers coming through the door. Perhaps they were booking the wrong DJs and playing the wrong music. Would more people come if there was better music? The manager, who had been there since the club opened, did not feel that changing the music would work. She wanted to experiment with the pricing. Perhaps they should lower the entrance fee from £5. One local nightclub had cut its entrance fee from £5 to £1. Or perhaps they should cut the price of drinks. If they were cheap enough, it would be bound to bring in more customers.
1.
How much revenue is JustYou making on ticket sales on a typical Saturday night in recent months? Give the formula and show your workings. 
(4)
Indicative content 
Revenue = Number of products sold x Average price 

Average customers: 200

Entry price per customer: £5

Therefore revenue = 200 x £5 = £1,000

Mark scheme

1 mark correct formula

1 mark for correct number of customers

1 mark for correct price

1 mark for correct calculation of £1,000

2. 
Explain why JustYou is currently making a loss. 
(3)
Indicative content 
Areas include:

· Significantly increased costs such as:

· Increased rent

· Increased fuel prices

· Minimum wage and the effect of the increase in its level

· Additional tax on drinks

· Fewer customers

Mark scheme

For 3 marks, development will show the reasons why JustYou is making a loss. For 1 mark, the explanation will be limited and simplistic in nature.

For example, ‘JustYou is currently making a loss because its costs are higher than its revenue or its revenue is lower than its costs. (1 mark) There are reasons for this. Over the past year fewer people have been coming into the club, mainly because of the competition from other clubs. Fewer customers will mean that revenue has fallen as prices have not risen. (1 mark) Costs have also been rising significantly. There have been increases in rent and fuel prices, a rise in the minimum wage that the business must pay to staff and increases in taxes on drinks. (1 mark)

3.  (a) Identify three costs that JustYou could cut fairly quickly if it wanted to. 
(3)
Indicative content
· Reduce numbers of staff

· Find a cheaper gas and electricity supplier

· Source a cheaper drinks supplier

· Book cheaper DJs

· Move to a cheaper location

Mark Scheme

1 mark for each possible area of cost that may be cut

   (b)  Explain what impact two of these cost cuts would have on the running of the business. 
(6)
Indicative content 
· Reduced staff may impact on service quality levels and drive customers away

· The cheaper gas and electricity supplier may put their prices up without warning and the business might have signed a long-term contract

· Buying cheaper drinks from suppliers might mean lower quality and not give value-for-money to customers

· Cheaper DJ’s might not be as good as more expensive ones and not satisfy the needs and wants of the customer

· Moving involves additional costs for a business and the new location might not be as good

Mark Scheme

Do not reward a mark for a repetition of the cost. The marks are accessed through making clear links between the cost chosen from 3a and the impact on the business. 

For example ‘Reducing the number of staff may reduce the quality of the service to the customer (1) and discourage them from visiting the club, reducing the revenue. (1) If the revenue fall is more than the cost saving then JustYou’s profit will actually fall rather than rise. (1) 

Hiring cheaper DJ’s may mean that the quality of their work may not be as good as the expensive DJ’s (1) and this may not satisfy the needs and wants of the customer. (1) If customers feel the quality of the DJ is lower they may choose to go to other nightclubs that have better DJs and so JustYou could lose customers.’ (1)

4.   
Would cutting the entrance fee to £1 be the best solution to increasing revenues? Justify your answer. 
(8)
Indicative content

· Cutting the entrance fee may entice customers into the business

· Revenues may increase as customer numbers increase

· Likewise revenues from entrance fees may fall if the number of customers coming in is proportionally less than the cut in entrance fee

· The main revenue stream is not from the entrance fees but from sales and more people through the door may increase revenue through additional drinks sales

· If the DJ quality is still not good then people may not come regardless of entrance price

· The drinks could also be priced at a level that would encourage extra sales

· Increased numbers of customers may result in the need for additional staff, adding to cost

Mark Scheme

	Level
	Mark
	Descriptor

	
	No mark
	Non-rewardable material

	Level 1
	1–2 marks
	A basic statement stating why cutting entrance fees would work or not with no justification.

For example ‘Reducing the entrance fee would get more people to come in and would help with the revenues.’

	Level 2
	3–5 marks
	A judgement is given with some support offered. The answer may not be balanced with the student perhaps only concentrating on the positive aspect of cutting the entrance fee. Terms and concepts will be implicit rather than explicit. 
For example ‘Cutting the entrance fee may well bring people into the business as they will see a value-for-money activity Revenues will go up because of this. Once in the club they may well spend money on drinks and this will add to the revenue. I think it is a good idea as clearly the revenue will benefit from this activity.’ 

	Level 3
	6–8 marks
	A judgement is made with some well developed support that provides some balance. Terms and concepts will be used with confidence throughout.

For example ‘Cutting the entrance fee sounds like a good idea but has to be carefully considered. On the one hand a lower fee would increase demand. Customers may feel that the lower price represents value-for-money but the business needs to make sure that the fall in revenue per person is made up or exceeded by the volume of additional customers. This will depend on price sensitivity. If they reduce price by 10% they would have to see a rise in customers by more than 10% for revenue to rise. This will also depend on the capacity of the club to cater for more customers. 

Having said this, the additional customers may well spend money on drinks once inside and this will add to the revenue provided that the drinks are priced at a level that the customer is happy to pay. Perhaps the issue lies not with the entrance fee but with the quality of the DJ and the service provided, which if bad will not attract any extra people regardless of entrance price. The success of the policy, therefore, will depend primarily on the size of the price cut and the sensitivity of customers to that price cut. If customers are not that sensitive to a price cut there will not be many more in to buy drinks to help boost revenues further!
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